www.lincolnelectric.pl

CODE WF200168, WF200171

o>
ASSEMBLY £ £
PAGE NAME & 2
=<
CODE NO.: FIGURE NO.: A
WF200168 | V140-S CE 1
WF200171 | V140-S AUS 2
Item Description Part Number QTY 1 2
1 Cable Clamp W8460038R 1 X X
2 Input Cable CE W7895200R 1 X .
2 Input Cable Australia W78X0216R 1 . X
3 Filter PCB W0551701R 1 X X
4 Standoff, M5x113 M/F W86A4384R 1 X X
5 Fan, 120x38mm W7200004R 1 X X
6 Input Inductor W58X0159R 1 X X
7 Standoff, M5x113 M/F W86A4375R 2 X X
8 Front Nameplate W07X0164R 1 X X
9 Input Switch W7516222R 1 X X
10 Side Nameplate WO07X0169R 1 X X
11 Front Panel W95X0163R 1 X X
12 Handle W9200043R 1 X X
13 Screw, M4x10 W8024010 2 X X
14 Lincoln Nameplate WO07X0027R 1 X X
15 Interface PCB WO05X0157R 1 X X
16 Knob Kit W8700022R 1 X X
17 Output Connector W7600024R 2 X X
18 Screw, M4x50 W8024050 2 X X
19 Secondary Case W95X0168R 1 X X
20 Screw, M6x12 W808612A 2 X X
21 Lockwasher, M6 W81000T6 2 X X
22 Washer, M6 W8100601 2 X X
23 Inverter PCB WO05X0155R 1 X X
24 Primary Case W95X0167R 1 X X
25 Nut, M4x10 W8610104R 2 X X

Strona |1



www.lincolnelectric.pl




